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Popmynbl NnpuBegeHUNA

e sin(t + 2nk) = sint; cos(f + 2nk) = cost,
ke Z;

e sin(t + n) = —sint; cos(t + n) = —cost;

¢ Sin(-t) = —sint; cos(-t) = cost;

e 8in(m — ) = sint; cos(mw — ) = —cosit;

° sin(f- — t] = COS1; cos[E — t) =sini;
2 2



tg(t + kn)=1tgt, ctg(i + kn) =cigt; k € Z;
tg(—-t) = —tgt; ctg(—t) = —ctgt;
tg(n—t)=tg(-t)=-tgt; ctg{n — t) = —ctgt;

T T
tg|l ——&t |=ctpl: ctg| —— £ |=tgl.
g[2 ) i g[2 ) .



PopmMynbl CNOXeHUA

cos(a + B) = cosa cosf — sina sinf;

cos{a — 3) = cosa cosP + sina sin(3;
sin{o + B) = sina cosP + sinP cosa;
sin{o — B) =sina cosfP — sinP cosa;
tgo+t
tg(a +B) = —2 gb ;
1-tgatgp

tea-t
tg(o—p) = ~E2 '8P
1+tgatgp



Popmynbl yOBOEHUS

e Sin2¢ = 2s8inacosa: cos2a =1 - 2s8ina;

e COS2a = cos?a — sin o cos 20 = 2cosa — 1
2tgo.

1-tg?a

® tg2a~



Popmynbl NONTIOBUHHOIO
yrna

COS? O = %(1 +cos2a); sin‘a = %(1 —cos2a).



Hpumepwni
Dopmynbl NpUBEEHUSR
e 5in370° = sin(10° + 360°) =

= gin 10°;
¢ CO0S190° = cos(10° + 180°) =
= —cos 10°;
9“ T T
t =—‘=t — 4 -_-'t —?
* g g(s “] o

e 83in80° = sin(90° - 10°) =
= cos 10°.



DopMynbl CNOXMEeHMA

cos105° = cos(60° + 45°) =
= cos60° cos4H° —sin 60° sindh° =

_ N2 J3.2 «/_(1\/_)

2 2 2.2 4
sin20°c0840° + cos20°3in40° =
= 5in60° = ﬁ;

2
tg756° = tg(45° + 30°) =
1+ J§
_ tg45°+tg30° ?_ B
1-tg45°tg30° 5 J3

3

_«f§+l_(«f§+1)2_ N
=Bo1 2z V3.




1. Brruuciamure:

1) sin2° cos28° + sin 28° cos 2°; 6) cos170° sin35° ~ ec0s35° sin170°;
2) c0s73° cos813° + 8in 73° sin 13°; 7) c032§+sin%cos%;
3) sin H0° sin §° + cos H0° cos H°%; 3) sin 105° sin 76° + 8in15° cos 105°;
4) cosﬁsin@-—ms?isin@; 0) cos 20° cos25° —~ cos 70° sin 25°;

8 24 24 8

9} c05100° 8in10° — sin 100°c0810°; 10) cos43® cosl7° — cos847° cos(— 73°).



2. HoxaxnTe TOXRACCTBA:
T

1) 23111[5 — u]sincr, = sin2a;
2) sin*a — cos*a = —cos 2a;

, 1+ cos® 2a
8) sin*a +cos*a = -

2
4) (sing-cosEJ =1-—sina;
2 2

5) 2cos*a + sin®2a + 2sin*a = 2;

6) 1+si =2cosz(£—g);
) ging 1 o

7) 1-sino = 2cos? (E + E);
4 2

8) sin3a = 3sina - 4sina;

9) sing +coso = \E[a - E],

10) ctga — tga = 2etg 2a.,



